Physics: Unit 2 Motion of a car wrap-up discussion
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(The final position= the velocity multiplied by the time + the initial position)

y-intercept ( initial position, X0  

Y is the Final position, X



rearranging     
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where     
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Displacement:  The absolute change in position of an object.


Distance:  The total measured length of the path covered.






D vs d simulation
Slope (    
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  average velocity 
units: m/s


Average Velocity:  The change in position of an object in a given amount of time, or the slope of a position vs. time graph. (Includes direction)


Average Speed:  The distance covered by an object in a given amount of time, or the absolute value of the slope of a position vs. time graph.(does not include direction).
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Ex.  3200 m run in track: v = 0 m/s because the displacement is 0 meters (absolute change from the initial position is zero: x-x0=0), the speed has a value because the total distance is divided by the time.   

Ex: 3200m/ 800 s = 4  m/s

Vector:  A quantity that has both magnitude and direction




Ex. Velocity, displacement


Scalar:  A quantity that has only magnitude.




Ex. Speed, distance

Frame of Reference:  An arbitrarily determined origin from which all measurements are made relative to. (most common: Earth/ground)




Ex.  Simulation, overheads
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